308.65 Ibs

ZMC:O

308.65 * 12.8c0s50° + 25.5c0522.5° — [F,sen(95° — 22.5°)[8.5 = 0

E - 308.65 * 31.78
P sen(95° — 22.5°) x 8.5

1 B =0

E, * sen85° — Cy — 308.65 =0

= 1210.75 lbs

C, = 897.5 lbs

<—ZFx=0



Cy — F, xcos85° =0

C, =27.551bs
Beam Calculation - B-66:
(L249.07)1b 308.65b
[;\; L e 4
R1s(940.68)1b RrR2
E = 14223344 1b/in°, 1 = 2.40E406 i’
L 31.85in
. -
EI
0766 308.39
S.FD. (Ib) ]
(940.68) (941.41)
B.M.D. (Ib-in) 4.62
16,
(7400.39)
Deflection (in) L/360
4796407
Notel Detail Notel INohz Detail Note2 ]""‘"‘ by: “““‘5‘"’“ Debe:
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Considerando un factor de dos calculo el médulo de seccién

_ .66 xSy .66 *46.1 ksi

vt = g > = 15.21 ksi
Mypsy = 7.4 ksi
_ Minsx
O-ballow - S
M, . 4
S MY — = 4865



